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HR| OBECH | R . HE| OBWEGD | 8% | | . HE|RECW | 8% | e | o
iR o | 3 | 4k | 10%) 60%) | =° A BiH = 3 | k| 10%) o g (60%) BEf | B HE4h £ | 31 | k| 10%) s g (60%) Sl &%

(10%)|(10%) | (10%) (10%) [ (10%) | (10%) (10%)|(10%) | (10%)
301 & | 10 | 10 [ 10.0 | 100 [ 100 | 60 [ 98 1 201 8 | 10 [9.75] 9.2 | 100 [ 100 | 60 [96.95| 3 |101| 8 10 9199 [100]100]| 60 [96.9]| 6
302 8 [ 10| 10| 98 | 100 | 100 | 60 [97.8| 7 |202| 8 | O |875( 7.5 | 92 | 100 | 57.6 |81.85| 12 |102| & [ 10 | 9 10 [100]100| 60 | 97 | 5
303 8 | 10 [ 10| 87 | 100|100 | 60 [96.7| 11 |203| 8 | 10 [8.25| 83 95 | 100 | 58.5 |93.05| 10 |103| 8 [ 10 | 95 9 100 [ 100 | 60 [965]| 8
304 8 [ 10 [95] 97 | 100 | 100 | 60 [97.2 O |204| 8 | 10 {975 89 [100| O | 30 [66.65 13 |104] 8 [ O [95] 92 | 94 | O [ 282]549]( 13
305 8 | 10 [ 10| 99 | 100 | 100 | 60 [979]| 4 |205| 8§ | 10 | 10 10 95 | 100 | 585|965 5 |105 8 [9.75] 9 93 | 100 | 100 | 60 [96.05| 9
306 8 | 10 [ 10 10 | 100 | 100 | 60 | 98 1 |206f 8 | 10 [ 85| 88 | 78 | 100 | 53.4 [ 88.7| 11 |106| 8 | 10 [ 85| 83 88 | 100 | 56.4 [91.2| 12
307| 8 | 10 (975 9.7 | 100 | 100 [ 60 |97.45| 8 |207| 8 [9.75|8.75| 10 [ 100|100 | 60 [965| 5 |107| 8 [ 10 | 9 8.8 [100 | 100 | 60 |95.8]| 10
308| 8 0O |10 99 [100| O 30 1579 12 |208f 8 | 10 | 95| 92 [100| 100| 60 [96.7]| 4 |108| 8 [ 10 [9.25] 10 | 100 [ 100 | 60 [97.25| 2
309| 8 0 (9751 91 | 100 O 30 156.85| 13 |209| 8 | 10 [ 95| 99 97 | 100 | 59.1 | 965 5 |109( 8 | 10 |9.75] 9 100 | 100 | 60 [96.75| 7
3100 8 | 10 [ 10| 99 | 100|100 | 60 [979| 4 |210f 8 | 10 | 9 10 [ 100 | 100 | 60 | 97 1 |10 8 | 10 [9.25] 10 | 100 [ 100 | 60 |[97.25| 2
311| 8 0 (9751 9 100 O 30 |56.75| 14 |211| 8 | 10 |9.25] 9.3 94 | 100 | 58.2 |94.75| 9 |111| 8 [ 10 | 85| 93 [ 100 | 100 | 60 | 958 | 10
312 8 | 10| 10 | 91 | 100 100 [ 60 |97.1| 10 212 8 | 10 |925| 86 [ 100 | 100 | 60 [9585| & |112| 8 | 10 {9.25] 10 | 100 | 100 | 60 [97.25( 2
313] 8 [ 10| 10| 99 | 100 | 100 ( 60 [97.9| 4 |213] 8 | 10| 9 10 (100 100| 60 | 97 | 1 [113] 8 [ 10 (95| 98 | 100 | 100 [ 60 |97.3| 1
314 8 [ 10| 10| 10 | 100 | 100 | 60 | 98 | 1 |214| 8 | O | 10| 10 [10O| O | 30 | 58 | 14 |114] 8 [ O [ O 10 [100] O | 30 | 48 | 14
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HH FRRF(30%) wom| | | | EH BEFE(30%) wom| | R | HE HFF(30%) wom| | e |
grgp| E | RE | Fk (10%) (60%) | =* grgp| FE | WE | FE (10%) ©0%) | =" mrg| FE | RE | TR (10%) ©60%) | =°
(10%) | (10%) | (10%) (10%) | 10%) | (10%) (10%) | (10%) | (10%)
301| 8 10 | 10 | 100 [ 100 [ 100 | 60 | 98 201| 8 10 | 10 | 100 | 97 | 100 | 59.1 | 97.1 101 8 10 | 10 | 98 | 8 | 100 | 55.5 | 93.3
302 8 10 | 10 | 10 | 100 | 100 | 60 | 98 202 8 0 0 8 | 82 | 0 | 246406 102| 8 10 | 98 | 94 | 100 | 99 | 59.7 | 96.9
303| 8 10 | 10 | 95 [100| 100 | 60 |97.5 203| 8 10 | 10 | 86 [100| 100 | 60 |96.6 103 8 [9.75| 9.8 | 89 [100| 100 | 60 |96.5
304| 8 10 | 10 | 10 | 100 | 100 | 60 | 98 204 8 10 | 10 | 86 | 100 | 100 | 60 | 96.6 104| 8 0 0 | 98 | 100| 0 | 30 |47.8
305| 8 10 | 10 | 10 [ 100 | 100 | 60 | 98 205| 8 10 | 10 | 88 | 93 [ 100 | 57.9 | 94.7 105| 8 10 | 10 | 94 [ 100 | 100 | 60 |97.4
306 8 10 | 10 | 10 | 100 | 100 | 60 | 98 206| 8 0 0 | 93 [100]| 0 | 30 |473 106 8 | 975| 98 | 92 | 98 [ 100 | 59.4 | 96.2
307| 8 10 | 10 | 98 [100| 100 | 60 |97.8 207| 8 0 0 | 99 | 100 O | 30 |479 107 8 10 | 10 9 | 100|100 | 60 | 97
308 8 10 | 10 | 97 | 100 | 100 | 60 |97.7 208 8 0 0 | 94 [100]| 0 | 30 |474 108 8 | 875 9 | 97 | 97 [ 100 | 59.1 | 94.6
309| 8 10 | 10 | 10 [ 100 | 100 | 60 | 98 209 8 10 | 10 | 93 | 97 | 100 | 59.1 | 96.4 109 8 |[875| 9 10 [ 100 [ 100 | 60 |95.8
310 8 10 | 10 | 95 | 100 | 100 | 60 |975 210| 8 10 | 10 | 99 | 100 | 100 | 60 |97.9 110| 8 10 [ 10 | 10 | 100 | 100 | 60 | 98
311| 8 10 | 10 | 95 [100| 100 | 60 |975 211 8 10 | 10 | 96 | 94 [ 100 | 582 | 95.8 11| 8 10 | 96 | 96 | 100 | 98 | 59.4 | 96.6
312 8 10 | 10 | 96 | 100 | 100 | 60 |97.6 212 8 [ 975 98 | 9 | 100|100 | 60 |96.6 12| 8 0 0 | 99 | 62| 0 |186]365
313| 8 0 0 | 99 |100]| 0 | 30 |479 213| 8 10 | 10 | 10 [ 100 | 100 | 60 | 98 13| 8 0 0 10 100 0 | 30 | 48
314| 8 10 | 10 | 10 [ 100 | 100 | 60 | 98 214 8 10 | 10 | 10 [ 100 | 100 | 60 | 98 114 8 0 0 10 [100f 0 | 30 | 48

SRR, ¢ GRS Z E T A )
J=P5TH

KRR R AR B E S M

PR

el

R =25 SRR T H 4Ry & B SRR B (3 #110.25)

PR

HELE=10-L |(&F1EH0.1) %2

A(NiTE=30% IMTE=30%)




EILHGHEE P 113RERE2EH " ATERFHE ) BT HERER6/2-6/6)

HH BFFG0%) A P HE B (30%) . || HE B (30%) s ||
| e |z | ok | aom) 60w | S50 XL e [ [ ik | aom) | gom) | BEF | EX | 8 | a2 | ik | 00w P qom | BEE | EX
(10%) | (10%) | (10%) (10%) | (10%) | (10%) (10%) | (10%) | (10%)
301 201 8 | 10] 9 |96 [0 |100] 57 |96| 7 [101] 8 | 10| 98| 100 | 97 | 100|501 [969] 3
302 202 8 | 0o | 96| 72 2] 026|464 14f102] 8 | 10 92| 10 [1w00)100] 60 [972] 2
303 203 8 | 10| 96| 88 [ 80| 100] 54 |904| 10[103] 8 [975| 98 | 91 |100] 00| 60 [967] 4
304 204| 8 | 10| 98| 89 |95 100]s85]952] 5 [104] 8 | o | 92| 10 [wof 0| 30 |572] 12
305 205| 8 | 10| 96| 85 [100]100] 60 |961| 4 |105| 8 | 10 | 92| 87 | 100|100] 60 [959] 7
306 206 8 | 0 | 86| 73 w00| 0| 30 |539]13|106] 8 | 10 | 92| 98 | 64 |100] 492 |862] 10
307 o — B A 207 8 | o | 9 |99 [100] 0 2 |569]11|107] 8 | 10 | 94| 92 | 100|100] 60 [966] 5
308 = R== 27 (S 208 8 | 0 | 96| 89 |wo| o 30 |565| 12108 8 [875| 9 | 10 |87 |00 561919 9
309 20 8 | 10| 98| 10 [84]100]552]9| 9 [0 8| 10| 9|91 |100]w00| e [9%1] 6
310 200 8 | 10| 96| 10 |1w00]1w00]| 0 |976] 2 |110] 8 | 10| 94| 10 [w00f100]| 60 |974] 1
311 21| 8 | 10 | 94 | 98 | 88 | 100] 564]936| 7 [111] 8 | 10 | 86| 95 | 97 | 100 5.1 [952] 8§
312 12| 8 | 9 | 96| 92 | 97| 98 |s8s5|9a3| 6 |u2| 8 | o | 94| 10 | 8| 0 |243]57] 13
313 a3| 8 | 10| 96| 10 [100]100] 60 |976] 2 [113] 8 | o | 96| 10 [1w00] 0 | 30 [576] 11
314 24 8 | 10| 10| 10 [100]100] 60 | 98| 1 [114] 8 | o | o | 10 |w0f 0] 30 | 4|14
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HE BFEG0%) o P EHH BFEG0%) _ - . HE HEFF(G0%) sk w2 | | .
| O | RE | ok | 10%) ©0%) | =51 | H i 8 | W | ek | (10%) ol A o | BEE| BX | TE | B | e | 10%) | qom | BB | BX
10%) | (10%) | (10%) 10%) | (10%) | (10%) 10%) | (10%) | (10%)
301 201 8 | 10 | 975]100 | 8 | 100 | 555(933| 9 |101| 8 | 10 | 10 | 100 [ 100|100 | €0 | 98 | 1
302 202 8 0 815 | 7.2 &7 0 |261]501] 131102 8 10 | 9.75 10 | 100 | 100 [ 60 |97.8| 2
303 203| 8 | 10 | 925| 8 | 8 | 100 56.1 | 91.4| 11 |103| 8 | 10 | 975| 94 [100 [ 100| 60 [972| 5
304 204 8 10 | 975 | 8.2 95 | 100 | 585 [ 945 7 |104| 8 0 7.5 10 91 0 | 2731528 13
305 205/ 8 | 10 | 975] 97 | 100|100 60 | 975 1 [105] 8 | 10 | 10 | 97 [ 89 [ 100 | 567 [944| 9
306 206 8 8 9.5 94 [ 100 [ 97 | 59.1 | %4 106 8 9.5 9.5 9.8 86 | 99 [ 5551923 11
307 P — E% NPEo 207 8 | 10 | 925] 98 | 100|100 60 |97.1| 4 [107| 8 | 10 [925| 98 [100 [ 100| 60 [97.1| 6
308 =] __ =N 208 8 0 975 | 8.8 95 0 | 285]551| 12108 8 9.25 | 9.75 10 91 [ 95 | 5581928 10
309 2000 8 | 10 | 95| 98 | 100] 100| 60 |973] 2 |109| 8 | 10 | 925| 10 | 97 [ 100 | 59.1 [964| 7
310 210 8 10 9.5 10 9% | 100 | 58.8 1963 | 5 |110] 8 9.5 9 98 | 100 | 100 | 60 |963| 8§
311 211 8 | 10 | 975] 94 | 8 | 100 558 | 93 | 10 111 8 | 10 [975| 97 [100 | 100| 60 [97.5| 4
312 212 8 9.5 9.5 8.6 | 100 | 98 | 59.4 | 95 6 |112] 8 9.25 | 9.25 10 84 | 99 | 549|914 | 12
313 213 8 | 975]975] 99 | 100] 99 | 597|971 3 |113| 8 | 10 |975| 10 [100|100| €0 |[97.8| 2
314 214 8 | 0 | 0 | 10 |100] 0| 30 | 48|14 114 8 | o | o | 10 [100[ 0 | 30 | 48 | 14
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